BEMKLIZTIVR XW—800—M (BZEA) $=1:20
(B#5 7 ERENBEREL - ABTRICEICAEAN GL+0m (2k3)

| 2000 , 2000
N=TEILX¥$2.0 A% t=1.6 ‘
/ (SGMH490EH1)
i § ]
| |
o
5
PNISA 2K 2-spRAitHE £=0.8
= I g g
} WRg t=1.6 Tl
2-#ife 1=0.8 (SGMHAY0ZE #1)
R
i 1
GL+om [ H
(=]
| ! < o
gﬁ%: $50.8x2.3 $50.8%2.3 é%} ) 3
i i ) /

ARl b X S=1:1
35
X\

1200

PNISA2YK s=1:22
t=0.6

245

r200

- = e —————————

INA VR $=1:3

£54RBN N8 x 65 (W)
[+v FEUF Y F]

‘
o

A IEBN M8 x 30 (W)
[Fv MIUF Y R]

RETEME

RETRIE - - - BAS 7TEREOEERE - FAETRICHE
DLAEAIZKS,

HEEEHE - - - RYIHFEHAD 98k N/mM (10t./m)

&

1. REEIN-T RO/ vERE, R - 7L -T2
DLEEH>ETOLETHESEIENAEELT S,
BL. RILF - Fv FEABMBRD>EDLIHEEEL
HEL, Z299RIL RV Ty ERILAMBNRGO - E
DHET D,

242300270

2024. 03




